3GPP TSG-CN4

Tdoc N4-000822

R00 ad hoc Meeting, Stockholm, SWEDEN

10th October – 12th October 2000

Source:
Ericsson L.M.
Title:
Proposed modifications to 3G TS 23.205 "Bearer Independent CS CN – Stage 2" related to Annex A: BICC specific call flows
Agenda item:
Bearer Independent CS Core Network 

Document for:
Information and Approval
This contribution contains the enhancements to the annex A, BICC specific call flows, of the 3G TS 23.205 version 0.1.0.

This annex has been improved removing codec information, which would be described on 3G TS 23.153. 
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Annex A (Normative): BICC Specific Call Flows

Mobile to Mobile Speech Call
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